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KEY ANSWERS FOR OBJECTIVES

SECTION—I

( Marks : 10 )

Choose and write the correct answer from the options
provided : 1×10=10

1. (a) Transport

2. (d) Farming

3. (a) forestry

4. (b) location of many industries at a single centre
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5. (b) decreases

6. (a) Suez

7. (a) Japan

8. (b) ASEAN

9. (c) level of development

10. (d) Provision of services such as trade and transport

SECTION—III

( Marks : 5 )

State whether the following statements are True or False :

1×5=5

1. True

2. False

3. True

4. True

5. True
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